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1. AESH THEEMN &£THK:
(1A= { - 3pEE ),

(2)B={ - —;--mﬁﬁﬁr }s

(3)C= { NTF200 3 MIELHIE
(4)D= { NF200E% ) ;s

(5)E= (FHR X1 <ommaom)

2, A= {ER}, B= {HR}. RETHIHRE R K
: 5 &  _a,y 7
xy, — 3a b,-—z—-, 3 3v2, v 3x,
2+.L ap- £, ax* +4Tx+1, 0.
x 3

A:{ }! B__’{ }0

8. BB FEHTHHEANEMET:

(1)A={x x-3>—-1};
(2)B= {x: x+3<2};



(3)C={x: ~3<x<2}.

. TEE ARRRTIE B Hﬁ??l%%ﬁfjﬁﬁﬁn\s
(LIP={(x, ) : x>11}s

(2)0={(x, » : y<-11};

(3)R={(Cx, )+ —1<x<1 }3

(4)5=1{(x, »: -4y~ 11},

A= (B¥Y, B={#®), C={BEAREHK
SARAEE ), AR TARRER TH A8
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(1)12€.A (2)15“;— € As
(3)25C A; (4)4 €Ay
(5)0 €A. '

. CHiEA: A= {x: x<10, xEN}, B={ x:
x>3, xER}', —'{1’ 29 3y 49\/2’ Ty
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€Cy ___ EAs __gBl
€cfHEBy ___€BH

10, #A={x; x=2n, n€J},B={x;: x=2n+1,
ncr}, | «e”r-, R A Tot i ¥ 3% - T
(1) {-2, -8} __ A

(2) 0 __ As

(3) A___ iy

(4) {-1,"1, =3, 3}y__ B
(8) ¢ Ay

(6 {0} __ A

(7) 0 N

(8)A  {—-4, -2,0, 2, 4}.
1. Foldg—Eich, MEHERTWTEAATB, LA Wik B i
CEE S : :
(1>A={2, 4,6, 8},B=(2, 4, 6,
10, 12}
(2) A= {(vZ, V3, 7, — }, B=( "M
V5
) s o
(3) A= {xs x=+/2}, B={x: x°=2},
(4) A={a, b, ¢c; d}, B={d, ¢, by a}.
12, REHEFA={0, 1, 2, 3 })HWITHTFHE.
13. REWHEAA= {a, b, ¢} PTHRTHE,
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/A= {a, by Crd_.- 3}95‘__"{“94»3}s
Cc=1{b}, D=1{d, e, f}.
R T % BB RIEMANT

(1) BEA;  (2) CEA
(3) DCA; (4) CCH
(5) BSCy (8) CCD.
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(1)a__ f{a, b}y (2) {a}___{a, b},
(3Ya___1{a}s (4) {a}___{a}s
(5)lgz  {c¥ )y (6)3,1416 . { mEH},
(7) {EHE)Y __{(KIEh

(8) {EHE)Y ___{%EE}.
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A= { SE=fK),.B= (HA=AE}, RANB.
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(1) {2, 4, __yNn{e6, 8, _}=1{4,

6 }s i

2) {a, 4, S _tnNidy, coes |
. }y={a, by, e, __-}.

#A={ay, b, c,d}, B={b, d, &, f, 8}.
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Bi= (=K}, A= {SE=fK )}, KA,
Wi={1, 2, 3, 4, 5, 6, 7, 81},
A={1, 2, 38, 4, 5, 6},B={2, 5, 6,
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3. BA(x)=v %X - 3++v 3~ x, RESF (x) BxH
Ao HE R AT HEMEMH 47

82, FHRMI(x) g x)RBRREA—DEE? Hfi AL
(1) f(x)==x, g{x)=vx"3
(2) f(x)=2x, x€ [0, +02), glx)=v"x7,
(3) f(x)=x, x€ [0, +°), g(x)=vx?,
xC [0, +00)
(4) f(x)=1, g(x)= J;;
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LRMF(-2), F(-1), fCO), F(3), HKRHAK
F s SO AME

87. HERBHTAMMREXERE (-2.5, 4.5 LK
HOWERIURIFERRS(-2.5), f(-0.5),f(1),

7



F(3.5),f(4.5), Hf(x)=0, f(x)>0, f(x)<0
B 23 BISR AR x ERRA,

y
TT
3
Z
N
AP =
] L 1
- #3368
Y
- - .
_zl 15 (-H 11 x
[ ]
®aTH
88, KT & B E LB
(1)y=x2_-21
=_ 5
(Z)y"x*+2’
4
(3)3’ '—lm‘“x!



N e

89,

" 40,

41,

42,

48,

44,

45,

R
Ix| + x _
3K F 3 B B s SR A I8

(1) 9 =2v2+x —x%

(2) y=v-(x+ 1)°,

REHy =v 9~ + ol R
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(1) y=x7% (2) y=x%

(3) y=x*+ 1, (4) y=(x + 1)%
(5) y=3 %, (6) y=-x°,

(4) y=

R 55 R B E
3 1
(1) y=x 2, S (2) y=x3;
3 -1
(3) y=x 23 (4) y=x 3,
ﬂﬂ@ﬂfﬂ%,,’_—ﬁx.. xz'_‘EE

A RE N, B (x))
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41

THEREX 7 A X [H
(-2, 6) EHENK .
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AR, - AESE B b, FA B T B 8 R b R A i

9




F 4470

EHREMN AN XEBARIRE? Dbk
KEEW? :
46, IERIEEf(x)=x%, x€ (~10, 0) MMM E
AT, EHE B (x )= x *FER - M W9 6 5.
48, iﬁ%ﬁ&ﬂ'fﬂéﬁﬁﬁ@ﬁﬁﬁﬁig

MFD—

(1) f(x)=x3% (2)f(x)-x

N|—

(3) f{x)=x? (4) f(x)=x
1
(5) f(x)==x 2, _
49, CHHHSf(x)=ax?+b (a<0) 3R1£E=
(1) Eﬁﬁf(x)ﬁﬁkﬁﬁh
(2) f(x) # (=00, 0) J:;%iﬁmé&; HEPE::
(0, +) I-EBEEH.
§0. EN={1, 2, 3, 4, 5, s}, .
M=1{0, 2, 4, 6, 8, 10, =},
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51, #N= {1, 2, 3, 4, 5, »},
M={+1, =1, +V2,-v2,+v3,-v3,
SR K Fn—> +/n'F, RARNEIME——3E?
52, RT3 B 0] R A0 a0 Y,

M

N

B52(1) 52(2)8

58, RT3 400 L1 350 _
(1) f: x—>y=3 x - 1 BREIRBXI N
(2) f: x—>p=x*+ LERFIRKINHN,
54, 3K F 5 BRY IZ 8 B
(1) y=v%, {x: x20}x

(z) y=*>1, xer,

(3) yz.ifc;f'__l_s_’ { x: %CR, x +_'1 }

55, ﬁ%%Tﬂﬂﬁ(uxﬁaiﬁ)ﬁ&ﬁﬁﬁﬁﬁ?%
RS R B
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(1) y=5%. (2) y=2"7

(3) y=-27% (4) y= 415
(B y=47h L (B8) y=xY
2 (7)) y=x7% T (8) y=(— 3)%
€9) y=(/2)% (10) y=(3k +1)* (k>
56, R B T 7 &5 afI0AY K/
3 \a 3\ . P
(1)(-5~-)<(5), (2) 7>
2 s By 2 \b 2
(3) (,r) ,(~—3) ; (4) (1.3)°<(1.3)°,
7. W FTHERP « HNE,
12 2 3
(1) a3<ad, (2) ab>aly
(3) ad%2>2 ", (4) al““(qva.

68, A THERPHEEYHHTRSS.,
o ()T o ()

R R TN T R VA R T

) 1, 6) (m) 1,

o (3)E 1 wo (F)E .

B9, ELAME BMy= 3 HOXBRS x—»y= 37, ik g
MRS R R
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(1) y=logs(—-x)s  (2) y=logesV X,

(3) v=1logs 3% (4)y=log#(2x+1).
61, F¥iy=lgx*Hy=2lgx FRFA—1TEHY? 4 x X

f{ERt, lgx®= 2 lgx? 4 x B AIEE,lgx® = 21g (-x)?
62, R T FXfalEE.

(1) log, 2 <log,v/' 53

¢ 2 ) log,0.15<og,0.16,

(3) log, 2>log,v' 5y

(4) log,0:15>10g,0.16,
€3, IRILB T I & AHHT K
(1) log, 3 Hlog,0.8
(2) logss 5 Hloge +0.5s
(3) log, 3 5log,,0.8
(4) loges 5 5loge.s0.5,

64. RiE (1) log,=b" = -ﬁ---log.b;

(2) log,blog,€=log,c,
65. il#Hlog, 9 xlogs 2,

66, BT HIRE .
(1) 4"=53y (2) 5*''=1;,

(3) (%)"'lz(i)7. (4) Y57 =625,

3
87. MTHARER,
(1) 3% -'< 9, (2) (0.2)27 8" +2l
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